How to Calculate Standardized Beta Coefficients using SPSS – Drafted 04/14/15
Based on formula 5:

Menard, S. (2011). Standards for standardized logistic regression coefficients. Social Forces, 89(4), 1409-1428.
Step 1: Run a logistic regression analysis
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Enter your model…
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Under Save, choose Probabilities
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Hit Continue, then OK

Step 2: Make some Interim Calculations

Find your saved Probability variable. It’s probably called “PRE_1” or something like that, saved as the last variable, and is labeled “Predicted Probability”

Compute a new variable…
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Call the new Target Variable “logitY” and compute it as follows (assuming your probability variable is called “PRE_1”):

LN(PRE_1/(1-PRE_1))
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Hit OK.

Now get the standard deviation for the new variable logitY, and while you’re at it, get the standard deviation for any of the independent variables (predictors) in your logistic regression analysis.
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Step 3: Find Numbers in your Output (Highlighted)
Logistic regression Output. Note, you just need the Block 1 information. Also, normally people report the Nagelkerke R squared, but solely for the purpose of making these conversions, we seem to get a more accurate estimate using Cox & Snell. (Still use Nagelkerke if you just need to report an R squared somewhere else in your manuscript.)
Block 1: Method = Enter

	Omnibus Tests of Model Coefficients

	
	
	Chi-square
	df
	Sig.

	Step 1
	Step
	27.616
	5
	.000

	
	Block
	27.616
	5
	.000

	
	Model
	27.616
	5
	.000


	Model Summary

	Step
	-2 Log likelihood
	Cox & Snell R Square
	Nagelkerke R Square

	1
	188.916a
	.122
	.191

	a. Estimation terminated at iteration number 5 because parameter estimates changed by less than .001.


	Classification Tablea

	
	Observed
	Predicted

	
	
	sui01

	
	
	0
	1
	Percentage Correct

	Step 1
	sui01
	0
	164
	4
	97.6

	
	
	1
	37
	7
	15.9

	
	
	Overall Percentage
	
	
	80.7

	a. The cut value is .500
	
	
	


	Variables in the Equation

	
	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1
	nT
	.285
	.064
	19.839
	1
	.000
	1.330

	
	eT
	-.009
	.057
	.023
	1
	.878
	.991

	
	oT
	.073
	.069
	1.118
	1
	.290
	1.076

	
	aT
	-.060
	.077
	.617
	1
	.432
	.941

	
	cT
	-.013
	.064
	.043
	1
	.837
	.987

	
	Constant
	-4.585
	1.987
	5.326
	1
	.021
	.010


Descriptives Output:

	Descriptive Statistics

	
	N
	Minimum
	Maximum
	Mean
	Std. Deviation

	logitY
	212
	-3.79
	1.29
	-1.5902
	.98840

	Neuroticism
	212
	4.00
	20.00
	10.7972
	3.46155

	Extraversion
	212
	4.00
	20.00
	11.7594
	3.55107

	Openness
	212
	7.00
	20.00
	15.7972
	2.67893

	Agreeableness
	212
	8.00
	20.00
	15.6038
	2.54878

	Conscientiousness
	212
	5.00
	20.00
	14.7547
	2.93148

	Valid N (listwise)
	212
	
	
	
	


Step 4: Make the Calculations

A = B x C x D / E

A = Estimated Standardized Beta (what you want to find)

B = Unstandardized Beta (what you started with, e.g., .285)

C = Standard Deviation of the particular IV (e.g., 3.46155)

D = R-value. Note the Cox and Snell value is an R2, so you need to take the square root of it (e.g., square root of .122 = .349)

E = Standard Deviation of logitY (e.g., .988)

p-values can be pulled right from the logistic regression output (e.g., “.000”, or preferably p < .001)

Estimated Standardized Coefficients for my Model…
Neuroticism: β = .35, p < .001

Extraversion: β = -.01, p = .88
Openness: β = .07, p = .29

Agreeableness: β = -.05, p = .43

Conscientiousness: β = -.01, p = .84
